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CSE 4573: Microprocessor and AssembIY LanWage

Programmable calculators are not allowed. Do not
Answer all 3 (three) questions, Figures in

mm-aTe–iii;e-irl assembIY language and machine language'
lated?

1.
How are these two re- 10

12
b) Write appropriate assembly language codes to accomplish the following tasks:

i. OFhx(225-200)+127

ii. OFFrhxroh+rorOrorob

c) Wtite an elaborative assembIY language code for RET'
3
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MOV AX,
NEG AX

ADD AXr

FAIAh

Alh
C.d, S„ipp,t 1, A„,mbly Language Code for QuestiQr1 2.b)

rst:i 1% ei:: T:toP: Soft: ln: I: :: ::=eUII:r:hiIT Len :Ie:: t i ::fI!!i:;iPI iS: TEI : PlLTd;JRF )
OF) IF7 TF1 and DF) registers?

c) DiKerentiate between NEG and NOT instructions with example
3

3. a) Differentiate between the register sets of 8085 and 8086 mlcroprocessors
10

b) Derive the machine codes of the following instructions usjng their rFspectlv: JnStrUctlOl]
’ formal and uso show how the machine codes of the instructions are to be stored in memorY

3x4

i. IN AX, ABH
ii. MOV ES : [ BX + Al B 2 H ] r

DX

c) 1,1 case of fetching a BYTE and WORD from the ODD and EVEN memorY banks’ how are
the fetching cycles adjusted? Explain.

iii. MOV BX, OIOIOIOIB
3
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